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1.

EDUCATION

Paper - 11

Which philosophy of education
considers psychology as an incomplete
study of and an inadequate basis of
educational theory ?

(A) Idealism
(B) Realism
(C) Naturalism
(D) Pragmatism

The aim of education according to
existentialists is

(A) Objective knowledge

(B) Adaptation to practical life

(C) A good understanding of the
world outside

(D) Humanitarian and humanist
self-realization

. The process by which children

develop habits, skills, values and
motives that make them responsible,
productive members of society is
called

{A) Socialization
(B) Mainstreaming
(C) Inclusion

(D) Differentiation

The best adjustment of liberty
and equality can be achieved
in a regime of

(A) Liberalism

(B) Socialism

(C) Idealism

(D) Democratic socialism

1. 53 edlolal@ i B ¥ Holldsuet,

Jadls Rsicloll g3 Ao ua
YAl WER B ?

(A) vueslale

(B) clRclclallE

(€) ysldeue

(D) caaglRale

. vt A Yool (Blagle] a8,

A) dqydl suet
(B) cAUclalRs Wdote] Bejglal
(C) cud gltaaell il unr

(D) Hiotcllat wat Hiotelcdtanel
wlaelld

. ® ylbal glrl cunsl 2d, slacall, yell

sl YU (Motives) (Asud B ual @
AHA UHwell FAUHELR A ALURS
olottd 8,dal 5% B.

(A) AH=s:eL

(B) YuAycusls:w

(C) uHLALat

(D) ([QAEls=wal

oll gUMotHl el ua

UMHlotclle] A6 ogelot 53| AslA B,
(A} GelRalle
(B) AMIFUE

(C) dueglaue
(D) Glsausl AHwUE
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5.

Preamble to the Constitution of India
mentions different types of liberty
for the people of India. Which types
of liberty, out of these, have direct
bearing on practitioners in the field
of education ?

(A) Liberty of belief and faith

(B) Liberty of thought and
expression

(C) Liberty of faith and worship
(D) Liberty of expression and belief

Who is the author of the book “The
Pedagogy of the Oppressed” ?

(A) Karl Marx
(B) Erich Fromm
(C) Lenin

(D) Paulo Friere

. Which is a greatest disadvantage of

project method ?

(A) It consumes much of the time
of the child

(B) Teachers, generally, do not like
to teach through it

(C) Children are generally not
interested in it

{D) It leaves gaps in the knowledge
of the child

. Islamic tradition in education lays

stress on inculcation of which of the
values ?

(A) Equality and equity
(B) Freedom and discipline
(C} Humanity and nobility

5. GlRciotl olttelell YrdlaettHl etRdsll

sl Hi2 Alay ystoe{l 2aciatclell
GeAu salHl vlcll B, adiell s
WA [QaRell AsMl 5LH s
AS WS yigt dd HsAddl B ?

(A) HloAcll Mol Stgloll 2etedAcl
(B) QR wal udlcusaell 2atcaicl
(©) gl v Guolloll Wlciatclt

(D) w@cAGA AHA Hiclclell Al

. “&@d{i Blawetaut (The Pedagogy of

the Oppressed)” Ycisetl AULS 5101 B?
(A) stel Hisd

(B) ARs Ax

(C) Altet

(D) Qe %2

. uscu ugldell Well & walet 585 & 2

(A) A llnslell yol wHA WA B
(B) el eud), [RQasl wu uglAel
eeuadle ¥E sl o2l

(C) AHLoA A cllst At 2 HRleell

ot2f]
(D) A olltisali stiaidi elst AN B

Rlateii sl ezl oft Aotiniel
sl Helletl GUEL UR GUR {3 & ?

(A) UHloldl U ALl
(B) Al wal [t
(C) Mlotclcll ol itetElell

(D} Quality and excellence (D) opRleirl A Gegrecl
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9.

10.

11.

12.

In the eight fold noble paths given by
Buddha, which of the following is the
basis of ‘Right Knowledge’ ?

(A) Right Speech and Right Action

(B) Right Action and Right Living

(C) Right Thought and Right
Concentration

(D) Right Faith and Right Resolve

Which of the following concepts of
Education acceptable to Vedanta
Philosophy ? Select the appropriate
code.

1. Awakening of all Q’s —1Q, EQ and
SQ.

2. Vocationalization of education.

3. Inclusive education.

4, Education for all.

Codes :

(A} 1, 2 and 3 only
(B) 2, 3 and 4 only
(C) 1, 3 and 4 only
(D) 1, 2 and 4 only

Yashpal Committee Report is
titled as .

(A) Learning by doin

(B) Learning through examples
(C) Learning without burden
(D) Cooperative learning

The expenditure as envisaged in
National Policy on Education 1986
on Education was of
national income.
(A) 6 per cent
(C) 4 per cent

(B) 7 per cent
(D) 5 per cent

9. ofgotl R UEL HOHL W5 (UAL)
silotoll  autut? o{lAstmiell 9 & ?
() Wwas gl wal was (B
(B) s sl el was Yaoll
(C) wals [AuR el WS ASIYcL
(D) s (A val Was [RAs\Q

10. lAouniell 58 dalQds Ascuoil

Aeic Beydl we st B, 20
3ol udieoll 52

1. 1Q, EQ 3 SQ Aal dHL Q A

B2l Sl

2. Rawe] clauellswl

3. ddldas Reaw

4. ud w2 Reaw.

udd :

(A) §5c 1, 2 vl 3

(B) $5c 2, 3 ua 4

(C) §5cl 1, 3 U 4
(D) 5l 1, 2 ol 4

11. agtutel W@Asu udalcef ollds 8.
(A) cllol ol 891
(B) clolol g e
(C) clfelol QuiBe Wdat
(D) SRAWR alslat

12. A¥la Qe 1986 1l @&’ urell

vl la pas ol (Aol
el &cll.

(a) 6 2sl (B) 7 25l

(C) 4 esl (D) 5 28t
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13.

14,

15.

16.

The National Knowledge Commission’
laid down guidelines for betterment
of

(A) Elementary Education
(B) Secondary Education

(C) Preprimary Education
(D} Higher Education

Which one of the following is the
first step in the process of policy
formulation ?

(A) Making the policy decision

(B) Planning of policy implementation

(C} Generation and evaluation of
policy options

(D) Analysis of the existing
situations

The most important thing to keep
in mind for a teacher according to
realism in education is

(A} The nature of the child

(B} The significance and value of
what is taught

{C) The method of teaching

(D) Organisation of the content to
be taught

Who emphasised realization of
truth, beauty and goodness as
the aims of education ?

{A) Idealists
(B) Realists
(C) Naturalists
(D) Pragmatists

13.

14.

15.

16.

ol Yrreu W2 el st

A Hole st Qe 531 sl
(A) yls Rlawg

(B) :ua@s Qe

(C) yduaMs Qe

(D) Gl R

olld Qulzei Al ude Aot
oflActimiell 53] & 7

(4) {lQel [Aela A

(B) oflldetl wHA] v%at 54

(C) ollldett [@Ascdl dauz sen U
AHe] HEUisa 5
(D) yadriet uRRAS] (AN 524

(Qletgui el aale Yool Rl waulotni
Aualsl Aol votRtefl ot B,
(A) swasell usla

(B} % lludate] ® dofl waBdl wa
dof Heu

(C) weauust ysld
(D) elluictetsit [@Qyauarde] dolset

510l (awstoll 1A A} UL YERcll
ual AuRlell AR uR euR ysAl 6A 2

(A) ueddadlul
(B) cllactclelt€l2
(C) usldaudlul

(D) caaslellel
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17.

18.

19.

20.

Which one of the following
education systems supports
scientific progress ?

(A) Realistic education
(B) Naturalistic education
(C) Idealistic education

(D) Pragmatic education

Which of the following is not true
about rubrics ?

(A) Criteria sheet
(B) Evaluation sheet
(C) Scoring guide
(D) Grading scheme

Which five year plan recognised the
importance of human capital ?

(A) Fourth five year plan
(B) Fifth five year plan

(C) Sixth five year plan
(D) Seventh five year plan

The universe is constantly evolving
through ‘Sarg’ and ‘Pralay’. This
statement is endorsed by the
philosophy of

(A) Jainism
(B) Buddhism
(C) Samkhya
(D) Vedanta

17.

18.

19.

20.

ol Aotunie 65 Blaat yeudl dsuls
ysifdal 251 20 8 ?
(A) Siretactel @et

B) usldauel Qe

() uedauel Reaw
(D) carcstatél Blaw

2@ suoll deeldl AAouniel g WY
otefl ?

(A) HIUES UAS

(B) HeUisel UAAS

(C) daliset Hiole st

(D) St 2ol

565 vuarla ogetdl wetcl YSlo
Heel N &df ?

(A) el vauarla alegeil
(B) wiaHl yauadlat 2loseil
(€) wdl dac{la1 2ogatt
(D) Al duarla 2losett

UMY R ‘A A YHA GlRL Udd

QsA B, w Qued  Bayd
UHdet 2 B,

(A) e
(B) «l&
(C) MHV=1L

(D) Atlect
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21.

22.

23.

24,

Emotional Intelligence comprises of

(A) Self awareness, Self regulation,
Motivation, Drive and Social
skills

(B} Drive, Self awareness,
Motivation, Empathy and Social
skills

(C) Self awareness, Instincts,
Motivation, Empathy and Social
Skills

(D) Self awareness, Self regulation,
Motivation, Empathy and Social
skills

The personality of an individual is

(A) A fixed state of one’s behaviour

(B) A psychological term for
character

(C} A dynamic and continuous
process

(D) A concept developed by
educators

Development of feeling of

appreciation and interest come

under the domain of

(A) Cognitive developmental
aspects

(B} Cognitive development of
personality

(C) Affective domain

(D) Psychomotor domain

Social learning theory was
proposed by

(A) Wolfgang Kohler
(B} David McClland
(C) Abraham Maslow
(D) Albert Bandura

21. WAL offgui oll yHLAsl

Al 8,

(A) weno)la,allamet, QReu, 820
wel WHUBS slacat

(B) 520, xto)ld, Y2eu, ddeell wa

AHLRs slacll

(C) ool 28201, YQU, AAEsU UR

AHI®Bs slacl

(D) s2)(q, lRanat, Yuu
(Motivation) dd geil Wa
AHEs slatell

22. if5lo] calseieet A 8.
(A) BSell adetell GAR ()
uRRAR

(B) uURA 12 Heldsuls 2ce
(C) dluleMs U At Wbau B

(D) Raw sl dscuet @sia

23. 562 wal el aucollolt [Asiuel
AHLdsL ULALHL a2l 8,

(A) stoliads [Astie] Wy

(B) callseiceloll silotleds [QAstd
(C) @UcleHs Wy

(D) HellewdlRs wy

24, WHlRs Uttt Rglc w2l &t
(A) gesolol Slect?
B) 3As AsAS

(C) WoieH AR
(D) WEHE Ulof AN
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26.

27.

28.

29.

Piaget’s theory of cognitive
development does not emphasize
on .

(A) Assimilation

(B) Accomnmodation

(C) Triangulation

(D) Organisation

The term gestalt means

(A) Part

(B) Circle

(C) Configuration (A whole)
(D) Shapeless

Concrete operational stage is
given by

(A) Piaget

(B) Skinner
(C) Erikson
(D) Kohlberg

Humanistic approach of counselling
does not encourage

(A) Curiosity
(B) Empathy
(C) Intuition

(D) Unconscious drives

Thorndike’s theory of learning is
based on .

{(A) Reinforcement
(B) Conditioning
(C) Operationism

(D) Connectionism

25.

26.

27.

28.

29.

Y0 Qogell sliolteHs ([@siu U olR
yscll el

(A) uRuwuet

(B) cl&allddcll el Ut
©) 5ellsw

(D) ¥olsel

dzelceoll el a8
(A) @dL

(B) ada

(C) ¥HdL

(D) wustAélet

Y Baueis wcRaral valld___
AR &l

A) Mau®

(B) R¥el2

(C) VRsua

(D) slecodl

w2slotel Histadlal€l A@AH

&l ledlteet vl ol
(A) (oot

(B) uatogeyd
(C) ictsilot
(D) w2 SRB0 (drives)

slolstes sell vradol @alcdd __UR
R 8.
(A) Ysds

(B) wl@:itlet
(C) UAEet cllE
(D) °AslaL cllE

R

»
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30. Match the pairs. Select an appropriate

code :
Section - A Section - B
1. Goleman i, Group Factor
Theory
2. Guilford ii. Emotional
Intelligence
3. Spearman iii, Three
Dimensions
of Intelligence
iv. Two Factor
Theory of
Intelligence
Codes :
1 2 3
(A) iv i i
B) i iii  iv
c) i i iv
(D) ii i iv

31. The national body in the field
of teacher education for its
development is

(A) MHRD
(C) UGC

(B) NCERT
(D) NCTE

32. Which of the following is not salient
feature of NCFTE ?

(A) Content and Concerns of Teacher
Education

(B) Curricular Areas of Initial
(Pre-service) Teacher Education

(C) Introduction of Grading System
in Teacher Education

(D} Transaction of Curriculum

30. 155l S 209, Adctell uieoll 53 :

[Qewo - A @ewol - B
1. o0cHet i % v
Rsid
2. Pless ii. WARs ol
3. [EQuNet i oot 2lQL
uRwwa
iv. ¢fgell Buzfla
Rsict
Al
1 2 3
Ay v i i
B) i i v
C) i i iv
D) i i v

31. @as Rawtati Asui Aot Qs 1B

Adla daeu )
(A) MHRD (B) NCERT
(C) UGC (D) NCTE

32, o{lAsuniell 9 NCFTE of Yyl ctael
aell ?
(A) Ras [Qatale] @uatcrg ua Aol
A& AlsAcl oot
B) yd Blas Qlatelel veany siet

A
(€) Rats Bl AB1 yauel cladd

(D) eA™5He] JAUlEtst (Transaction)

S

»

LY

L™
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33.

34.

35.

36.

37.

National Commission on Teachers— 1
was Chaired by

(A) C. L. Anand

(B) D. P. Chattopadhyaya
(C)} Yash Pal

(D) Ramamurti

Collaborative learning does not
promote

(A) Peer learning

(B) Critical thinking

(C) Communication skills
(D) Individual learning

RMSA Scheme was launched in the
year

(A) 2002
(C) 2009

(B) 2005
(D} 2014

NCF (2005} proposed changes in
curriculum of

(A) Higher Education
(B) Teacher Education
(C) Technical Education
(D)} School Education

Organisation responsible for
improvement in school education
at state level is

(A) DIET
(B} NCTE
(C) SCERT
(D) SRC

33.

34.

35.

36.

37.

2008l Blats wiloL — 1 ol vlkRLsL
&cll.

(A) Al At vlsle

(B) $LUl. uglwraud.
(C) aguet

(D) A

UeALIYEL VLRI A Yldigel
wud otell.

(A) aeflull A iU

B) [QAUsticHs Rictot

(C) APl slacl

(D) c(5Aolel etat

RMSA 2osolicll 2 ad Ml
a2l &cll.

(A) 2002 (B) 2005
(C) 2009 (D) 2014
NCF (2005) ¥ oll VlEAUSHHL

uBcdot el Yadtel ysell &l
(A) Glau [lewl

(B) Ras Rawl

(C) B8l Raw

(D) A Qe

A% s A Rlaglell YR e
g LHELR A6l &

(A) DIET
(B} NCTE
(C) SCERT
(D) SRC

T

4
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38.

39.

40.

41.

Which of the following is not true in
case of experiential learning ?

(A) Develops deep understanding

(B) Enhances critical
understanding

(C) Focuses on rote memorization
(D) Applies reflective judgment

According to NCF 2005 role of
teacher is .

(A) Authoritarian
(B} Dictatorial
(C) Facilitator
(D) Permissive

In which city the western region
committee office of NCTE was
situated ?

(A) Bhopal
(B) Ajmer
(C) Mumbai
(D) Indore

What is the primary function of
SCERT in any state ?

(A) Design and development of
integrated teacher education
courses of four years

(B) Preparation of a code of
professional ethics for teachers

(C} Accreditation of teacher
education institutions and their
monitoring

(D) Development of curriculum,
text book evaluation training,
research and innovation

-y

]

38.

39.

40.

41.

ofeLalHs AULAAAall Gl
ol Aotniell 9 Wy ool ?

(A) Gswaydsell wry Qswd &
(B) [QAUsttems M i B

(C) oMU UR 2llol 3R 53 &
(D) Adatalldt A QA1 5 B

NCF 2005 yesoi Qatss{l oist
__dol B,

(A) Acttaudl

(B} Ayucu2uél

(C) ylu vuusR

(D) uRclletdll wUelR

NCTEo{l u@l yzEls u@ Qo]
stadlcta sell adml waAg oq ?

(A) ellute
(B) usdR
(C) Yo
(D) SFER

5l& URL A¥AMI SCERT of UM s st

9qd?

(A) AR adel AslAd Ras Qaw
stelsH w2 weUell udv dauz
sl WA (A5 52

(B) [@atsl MR RS wWiARABA
dauR sl

(C) Rlats Rl Arenalle] Yl wal
UGHARL 5

(D) ueAgdsHoA Qs 5
WEAYRAS Helisot, dtellu, dsltiet
e stelyelclot

T

s
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42.

43.

Curriculum change envisages which
of the following. Select the appropriate
code :

1. Change in aims and objectives.
Change in contents.
Change in infrastructure.

Change in methods of teaching.

S

Change in evaluation processes.
Codes :

(A) 1,2,3 and 4

(B) 1,3,4and 5

(C) 2,3,4and 5

(D) 1,2, 4 and 5

In the statements below identify those
which are related to the competency
based curriculum design. Select the
appropriate code :

1. The abilities and learning styles
of individuals get support.

2. Individual memory based
knowledge is stressed.

3. Individuals are helped to
achieve their potentials.

4. Domain specific proficiency of
individuals is focused.

5. Curriculum gets designed with
an idealist perspective.

Codes :

(A) 1, 3 and 4 only
(B) 2, 3 and 5 only
(C) 3, 4 and 5 only
(D) 1, 3 and 5 only

42. weausH ulRade oflAsuHigl el

@3 Rz 52 B 7 Ao Add udle 52
1. A el 3qgui uRadst.

@QyaadgHl uRadst.
HaHoLd yAurl uRadst,

weaiUel Uugldul WRadst.

S S

yeatisel yBaml uRddet.
Asd :

(A) 1,2, 3 4

(B) 1,3,4 ¥ 5

(C) 2,3,4¥4 5

(D) 1,2, 4 el 5

43. o Aciiel atcll LR WeAUSH

20l WA BsiAct Quiell BNOVAL
209 UB Ue 532
1. calaalell aHdRA wal Ut

el 28 1A B
2. 5ol WA Rt sitet
U2 el YsclMl 2d B

3. cERdal dxell Wdtell sl
@g scl HIZ HEE Sl WA B

4. ol stet@lan yeltaiel uR
t2dlol JEhcl UM 2UA B

5. e dlatdl uRdea wd
yedsHell UL
gcMl a8

Usd :

(A) 85t 1,3 vl 4
(B) $5c1 2,3 AUa 5
(C) 550 3,4 a5
(D) 857t 1,3 3 5



44. Which of the following characteristics

is common to pragmatism, naturalism
and existentialism ?

(A} Emphasis on value education

(B) Emphasis on the individual

(C) Emphasis on spiritual aims of
education

(D) Emphasis on physical
environment

45. The congruence-contingency model
of curriculum evaluation was
developed by

(A) Robert Stake

(B} Daniel Stufflebeam
(C) Malcolm Provus
(D) Hilda Taba

46. Child centred curriculum is most
associated with

(A) Rousseau’s idea of negative
education

(B) John Dewey’s progressive view
on education

(C) Frobel’s concept of kinder
garten

(D) Plato’s ideology

4'7. Which one of the following
educational foundations has no
direct influence on the selection
of curriculum cbjectives ?

(A) Philosophical foundations
(B) Sociological foundations
(C) Psychological foundations
(D) Political foundations

44. o{lAeuniel 52 cal caaslate,
yslAale wel URAClaen]
AHU & ?

(A) yea [Blatel uR euR

(B) calsal u? eu?

(C) Qaget aeaulds Heal uR @R
(D) ell@s ctcltaRQ U eUR

45. VERAUUSH YEAISeloll Uof3UCl —

WSRAS AL YlAHletal Qs g2l
gl &,

(A) Awé s
(B) dac wscellH
(C) HEsH Ylay

(D) [Best dint

46. GlBodl eAusH Wefl ay A
ASIAA B.
(A) 3otl aislAH5 [Rasioll v

(B) R et %8let syl yorQelle
sl

(C) slacell (5s2oudetell dscuot
(D) wAlefl [Qaun

47. o{lAsuniell 5¢5 Aa@s wuuelcisl
URUUSHAL Sl [RELA 52U U
Yeuel R ol ?

A) dlis wwRal
(B) aeraulla 2@
(C) Holldsulas vuuBRe
(D) A¥Ha R
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48. Which two of the following are false | 48. [QuieleHs (Formative) Healisotoll

about formative evaluation ? deolni sl A (AQruetl Al aefl ?
Select an appropriate code : ARl Ul ue s2A:
1. Standardized tests are used for 1. Qaiuets yeatiset 2 yHlRid
formative evaluation. sadlallell Guailol Al 8.
2. Provides feedback to teachers to 2. wealUol U@L YLURAMS

modify the methods of teaching:
fy 8 uRadet clact #2 Rlasla

3. Cor:isid:-rs evaluation as a : yAue 2l 8.
product. 3. yeaisatal olluxy 3l xcllsiR B.
4. It is developmental in nature. 4. Aoj 3 Rstalads .
Codes : : Add :
(A) 1 and 4 are true, but 2 and 3 (A) 1aal 4 AUl 8, UBL 2 Wal
are false 3ulel®
(B) 2 and 4 are true, but 1 and 3 (B) 2 A4 ULAL D, ULl U
are false 3ullaL B
(C) 1 and 2 are true, but 3 and 4 (C) 1ual 2 B, URL 3 el
are false 4viel 8
(D) 2al 3 LA B, UL 13l
(D) 2 and 3 are true, but 1 and 4 4 W2l
are false

49. According to NEP-2020 a practice | 49, NEP-2020 3%¢ NCERT glRL INEETS

based curriculum for class 6 to 8 ol 8 M2 HsLaRL (Practice) NS
will be appropriately designed by wenAsHoll Ao Aa gudn daR
the NCERT. What will be the name g2cllHl vadl, HelaRl AURd

of practice based curriculum ? BeAUSHe] ol Y & ?

(A} NCDSE (4) NCDSE

(B) NCFCE (B) NCFCE

(C) NCFSE (C) NCFSE

(D) NCFES (D) NCFES

—

i v
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50.

51.

Which two of the following are true
about curriculum ?
Select the appropriate code :

1. Curriculum is descriptive in
nature.

2. Curriculum is uniform for all
teachers.

3. Scope of Curriculum is wider
than syllabus.

4. Curriculum is a document that
has all the information about
different topics or concepts that
need to be covered by a teacher.

Codes :

(A) 2 and 3 are true, but 1 and 4
are false

(B) 1 and 2 are true, but 3 and 4
are false

(C) 1 and 3 are true, but 2 and 4
are false

(D) 2 and 4 are true, but 1 and 3
are false

Natural behaviours of the subjects in
real situation are focused in

(A) Narrative Research Design
(B) Mixed Research Method
(C) Grounded Theory Design
(D) Ethnographic Studies

50. o{lAciiHiell woausHoAl UeRH] 52U A

Qe a2 & ?
192l At URlE 53

1. a3uell g wenUsH,
cRletlcHs B,

2. HH [Qletsl W@ wearsH
UsYHlo, &l B.

3. UIsASH 5l weAUSH Ao
Qauen .

4. veALUSH A £xUAY B BH|
QY A W UscuteAA)
QA AHH R 8l B R Rats
gL el Aol A B,

Usd :

(A) 2ol 31U B ULl 1w
4 w2l B

(B} 1A 2 AU B Uk 3w
4 vlaL B

(C) 1ual 34U BUQL2 e
4 ulal B

(D) 2 ol 4 AU B UL 1 ua
3 el ®

) Hi, cields uREQUI

AERAUUULA L2 Ui elieulds (Natural)
Acdellal osHi Avicuni 21 B,

(A) salHs Agluet Alowoll
(B) Bl deluet us@

(C) WB3s Rgict ogotl
(D) ojciallal veau
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52.

53.

54.

Read the following statements
carefully and select an appropriate
code :

i. Participatory observation is not
done in ethnographic studies.

ii. Inductive reasoning is done in
grounded theory design.

Codes :

(A) Only statement ii is true
{B) Both statements are true
(C) Only statement iis true

(D) Both statements are false

What type of relationship will be there
between correlation coefficients
found by point biserial method (rpb].lS
and product moment method (r)
for the same data ?

A) rpbis -T

B) rpbis >r

() I-pbis =T

(D) None of the above

)

Variance of the test scores is 36. If
the standard deviation of the scores
is doubled, then what will be new
variance ?

(A) 72
(B) 36
(C) 6
(D) 144

52.

53.

54.

ol Qe Quoll tauetedl aiul vial 2010
b wre s3A:

i ociellat dslua ugeudll
A5 sall wad ool

i, E3ds Rgic AogellHi BUIHatLHS
df scuHl 2d B.

wd :

(A) 85ct [Qtuotii W3 B

(B) oial [Qltuell i 8

(C) $5ct Quuoti WY B

(D) oiat [Qtuell w2l B

Wlet et M2 g A@s (r ppig)
A UBua 2Justrel (1) ugldel
Anade Usdoitist a2 su
ysiell doly &9 ?

(A) rp =r

bis
B) r

pbis >r

= 1’pbis <r
(D) GuaMiell As uel &l

5A UltiBle] (Quwt 36 B.
Yliaislotl YHIGL Qo] HeL 61y
saHl A Al oig QuQ 9§ HOQ ?
(A) 72

(B) 36

€ 6

(D) 144



' BS.

56.

57.

Name of parametric tests are given in
Section A. Best alternate of each of
them in non parametric test is given
in Section B. Select the code to show
correct matches.

Section - A Section - B
1. ANOVA i. Median Test
2. ‘t’ test ii. Kruskal-
Wallis Test
3. Karl Pearson’s iii. Mann
Correlation Whitney U
Test
iv. Spearman’s
Rank
Correlation
Codes :
1 2 3
(A) 1 iii  iv
B) i ii iv
C) i il iv
(D) ii i iii

If all the subjects of research have
responded correctly to a particular
item of the test, then what is difficulty
value of that item ?

(A) 1

(B) 0

(C) Less than 1

(D} Between 0 and 1

The variable that affects on the cause
and effect relationship between
independent and dependent variable
is called

{A) Controlled Variable
(B) Moderator Variable
(C) Effect

(D) Cause and effect

55.

56.

57.

(Qewat— A i yincllan 58t otm
UL HL vl B. a £5ell viutucllay
sqEHi A [Ascu RQowdt - B uj
VULl vel B, w18
gollatal W2 Al urie 53,

Qewol - A Qeuwol - B
1. ANOVA i, Hrare s
. 8l sdldl i, s acly
EENEL|
3. sl Rarlotoll  iii. Aet. [Qseadl
HeHoY Y s3]
iv. RUaAstall
SHIS
Udd : AsUoLY
1 2 3
A} i i v
B) i i v
© i i v
(D) i i i

Bl s s dlell WssU 56 (Item)
A Heltlotoll 3L WD AL
yldaR 2l Sl Al A seidof
sldotcll yeat o B ?

(A) 1

(B) O

(C) 1 8l Al

(D) Oual 14l a2

¥ UA WA Wl UdA U 2201
51281 AU Aol UR AUAR U B, Aa
__ 5% B.

(A) el uadt

(B) uRads uc

(C) AU

(D) SIRQ el VMR
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58.

59.

60.

Which of the following is a controlled
variable in the context of the research
problem “study of teaching aptitude
of male teacher trainees of urban and
rural area” ?

(A) Area

(B) Teaching Aptitude
(C) Gender

(D) Aptitude

What is done to check the validity and
credibility of the content presented in
the sources of historical research ?

(A) Internal Criticism
(B) Historical Research
(C) External Criticism

(D) Descriptive Research

What do you mean by an experiment ?

(A) Observation of the impact
of independent variable on
dependent variable

(B) Observation of the impact of
independent variable on dependent

variable in controlled situation

(C) Observation of the impact of
dependent variable on intervening

variable in controlled situation

(D) Observation of the impact of
moderator variable on dependent

variable in controlled situation

58.

59.

60.

s9 33l A 1A (ARellRell YN
Rlas uReeu A mauust
A0l AL g tlol UM
dealni Aauriell s R2ABd
UA 8.

(A) QR

(B) v{raliuet (@ 20RUclL

(C) [Ad1 (Gender)

(D) vl

DAsLRs AU tlot HZell BAHL
Y At Quacrgell audd
wal Qaacllad usa e ¢
sl WA B ?

(A) uidRs wleu (Criticism)
(B) AldsRsiglust

(C) oual wlan

(D) cdollais Aot

Yo Aled 9 ?

(A) dda Aetoll U At UR Usdl
UURe] Waclsel 89,

QAR WRRAMAHL 2t
Aol UrdA A UR usdl
UURe] UAA S 54,

(€) RelBd URRAAHL uRdA
Udell sidadl ud Uz
uscll vURe] HEU S 539,

QaBd WREAHL WRads
Uctell URdA uA UR usdl
UUR] wUAClSal 59,

(B)

(D)



61. Reflective journal is written with the

purpose
{A) To understand the things that

have happened and align future
course of action

(B) To share what other feel for
themselves

(C) To rely on the view points of
others

(D) To have an idea of the world
outside and mend one’s actions

62. A teacher develops an achievement

test to determine student’s individual
strengths and weaknesses before
beginning of a learning activity is
known as

(A) Formative Assessment
(B) Summative Assessment
(C) Placement Assessment

(D) Diagnostic Assessment

63. Flander’s Interaction Analysis

System is

(A) Teacher dominant
(B) Student dominant
(C) Non-verbal in nature

(D) Non-observational

61.

62,

63.

oll & WA RgAlR o oelet
GeltHl 2L B.

(A) B ol otell B Aal
UMl wa el Gaua
UM s

(B) clsl Wttt QR 9

(Qau & Aedl mel
sl HE2

(C) lolatl 4(RHQL U BUUR
Aval HIR2

(D) cusl glau @A veuet
Adacal wa dldell
Gaull Y.

vttt Ygldalefl azaid udel

Qas Qawel2:0l 1B AB
U Al @ABld sa w2

R s Qs 52 B, Ax
58 0.

(A) Auigues yeliset
(B) URIRA yeuisel

(C) Ryt 1o Yeaiset
(D) [Retotions yeatiset

gAsell Ui (AsdAnel yauel
&

(A) Rets yeudl

(B) [Qeuell yeucl
(C) e3uell sl waulct s

(D) (Aot AccAsll2
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64.

65.

66.

While creating rubrics for self at the
determination of one’s performance
ratings, which among the following
is to be taken care of ?

(A) Descriptions and numbers
(B) Observation and descriptions
(C) Observation and numbers

(D) Observation and evaluation

Knowles theory of andragogy identified
five assumptions of his theory. Which
among the following is not one of the
assumptions of his theory ?

(A) Past learning experiences
(B) Readiness to learn

(C) Self doubt

(D) Driven

According to Morris Bigge, “Teaching-
learning situations may be classified

on a which ranges from

thoughtful to thoughtless mode of
operation”.

(A) Continuum
(B) Hierarchy
(C) Persistence

(D} Trajectory

64.

65.

66.

Wellell st204le] sHiset ARl
scll W2 3Qsue] Uet scll
aua oflAsuHiell 2wof taust
Aug A,

(A) UissL v AGlet

(B) dlclclsel wal aglel

(C) Baclsat Mt sl
(D) VACSal Wl HEISo

Ule QawieuEel odctst Rgid
uia yduReual qoell 3.

o Aotiniell 86 Aoll A5 ydeue
aiefl ?

(A) yd et Usgeidl

(B} utartet Hizoll daudl

(C) el UR aisl

(D) dulAd

ARA Aot s&UL Yool A eUYUel

weel URRAAA ___ o AR
s 53 43 B Boll Aol A2
Rauzelle stolflell (Qaz{adlet
5ol Yellal B 2

(A) Ut
(B) sHURA (Bogsd)

(€) aacl
(D) yau uy



67. Self directed learning means

(A} Ican create my feature film about

education

(B) I can take feedback from
teachers and supervisors to

monitor and direct myself

(C) 1Isit on my computer desk during
class when teacher is teaching

(D) I can tell others how to do a
task

68. A schoolteacher conducts assessment
for improving classroom instructional
procedure. This will be which type of
assessment ?

(A) Norm referenced evaluation
(B) Summative assessment
(C) Formative assessment

(D) Both norm referenced and
summative assessment

69. A portfolio assessment provides

opportunity for a students :

i. to reflect on one’s learning
ii. to self assess

iii. to formulate deeper
understanding of the concepts

iv. to assess others’ achievement
Codes :

{A) i, ii and iii are correct

{B) i, ii and iv are correct

(C) i, iii and iv are correct

67. w RERd utaua W@ .
(a) ¢ Qe videll WA cual@s
B cloudll 2§ @
(B) & H3 iclo] Btafsialdl A UG E oot

scll HI2 [Retse] wlAWwel ua
BRlew and 215 ¢

(C) AR Rl LAUUA 52cll
slat ey € HIRL 5weR
3 UR Oy ¢

(D) stH 58 A 52¢ A §
Ul 58l 2§ ¢

68. (las cdlvisell ueft atotoll
stluglda Yrtat H2 Heiset
53 8, L Ul YSRe] IS B ?
(A) Hlolis el yeuisa
(B) ARl yeaisat
(C) Ruleucus yealise

(D) wRIERA uat ArlLuHs
olol Ysire] YeRUSol

69.

WA Yeaiset [Qrateflx0a
ol s wl B,

i. g5 UtA2dot UR Rldot 529
ii. ¥ Yeuisel
iii. geuciallell Blstalydsell
U [Asuiadl
iv. ool @S] HeU S 52
Asd :
(A) 1, ii, iii WU B
(B) i, ii, iv 1AL B
(C) 1, iid, iv UL B
(D) ii, iif, iv UL &
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70. Which among the following is the | 70. el Al iz

assumptions of Charles Galloway QeAnet yguelloll ydrureun

system of interaction analysis ? ol Aounigll 565 & ?

(A) Non-verbal communication of a (A) clvisHi Blassll vaulcEs
teacher has no significant role UInG{ wsls st otell

in classroom ‘ '
B) adetell YAl ylding

(B) Feedback does not play ugccloll G5l easelctl otell

important role in modifying the

aasl YA U3 B ual Ywu
(C) Non-verbal cues reinforce and 4 ®
: Wl B
motivate students
(D} Non-verbal communications are (D) awivisul uid0Bau e 20t
ineffective during interaction in UAGE 5 AYNE ot uR5125
the classroom WD

71. Which learning theory was introduced | 71. ¢jol? sl wtldel Ralct % sal &l ?

by B ? .
Y Brunet (A) A LAt

A) Signal 1 i i
(A) Signal learning (B) LAY Gl ltu2lat

(B) Learning by insight

C
(C) Trial and error (C) yeuet wal ot

(D) uoQAWRUMS

(D) Discovery

72. What is the full form of MOOC ? 72. MOOC 9 Y3 oilH g 87
(A) Massive Online Office Course (A) Massive Online Office Course
(B) Multilevel Online Open Course (B) Multilevel Online Open Course
(C) Massive Online Open Content (C) Massive Online Open Content
(D) Massive Open Online Course (D) Massive Open Online Course

]
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73.

74.

75.

76.

Which of the following is not based
on web 2.0 technology ?

(A) Netflix
(B) Twitter
(C) Youtube
(D) Facebook

Who gave information system success
model ?

(A) Denial and McLean

(B} DeLone and Marshal
(C) DeLone and McLean
(D) Delone and McLand

Which of the following is not given
importance in D and M information
success model ?

(A} Education of user
(B) Net benefits
(C) User satisfaction

(D) Service quality

In which model of developing
instructional design, learners are
analysed first then objectives are
stated ?

(A) ADDIE

(B) Dick and Carey’s model
(C) ASSURE model

(D) Constructivist model

73.

74.

75.

76.

ollAottriell 9 Axt 2.0 dAslAS uz

slRd otell ?
(a) A2 Gasu
B) elde?
(C) Y A
(D) Juois

HIEA yguell asncl wmet 51
VR &qf ?

A) Aacd wa Ascllat

(B) Slcllel wal Higlet

(€) Sl A Ws cllet
(D) Slclot vl N5AS

Sl el A, Bl yeuell usacu
ylduietdi o{lActmidll s Heat
U AUHL e atell ?

(A) augasdis] Qaw

(B) Azt statet

(€) augnasclell Acln

(D) Acltell AyRtazt

Ut alol Alellell (A sc Hizell
sal Ylduotul, Aell udell wULAcue]
[Qeauel seldl A B Ul dqile]
uiel seuHl WA & 2

(A) ADDIE

(B) Bs ual ¥l yldntot

(C) ASSURE yldHist

(D) Uetlctl uldstat

g



77. What is an ADDIE ?
(A) A teaching theory
(B) An online teaching theory

(C) An offline teaching theory

(D) Model of developing instructional
design

78. Who of the following are constructivist

psychologists ?

(A) Jean Piaget and Skinner

(B) Lev Vygotsky and Watson

(C) Jean Piaget and Lev Vygotsky
(D) Thorndike and Jean Piaget

79. A labourer is paid ¥ 500 per day if

he works of 8 hours a day. Which
type of reinforcement schedule is
applied here according to operant
conditioning ?

(A) Ratio

(B) Fixed ratio

(C) Continuous

(D) Interval

80. In which type of conditioning neutral

stimulus acquire the properties of
natural stimulus by pairing with it ?

{A) Classical conditioning
(B) Operant conditioning
(C) Practical conditioning

(D) Reverse conditioning

77. ADDIE g & ?
(A) wtaUel Rglc

(B) wolclieSol wtailnvel Rgld
(C) Bseusat vt Rsid

(D) ¥ejdale] eesell Astdio] Yldntet

78. ollAstiell St ustcuel
HeldsulAsl & 7
(A) Rt M2 WA @Het2

(B) Aa (Qo0REl el dladst
(C) ®at Qau wA Aat (Qolsl
(D) olsless el (Rel Mo

79. % 1R Rcoll 8 SCUS SIH 5
Al Raa €ls T 500 ysaa
AUA B, 518 @RI UL Yol wul

sl Ysiell Yadlsl dxatiell
BHEA SRAHL 2UA B 7

() 2elletR

B) A2 JeltR
(C) ddd

(D) vidRpAct

80. sl Yslell Rl sEl Gdlus

A AsiSa e Ghlus Aotl 9t
Yiid 52 8 ?
(A) awlla w@Rituet

(B) 5125 w@ritot
(C) caaslRs w@aituet
(D) GldesH w@tlst



81.

82.

What are the key characteristics of a
transactional leader ?

(A} Guiding, mentoring and
demonstrating

(B} Guiding, mentoring and
motivating

(C) Guiding, commanding and
motivating

(D) Guiding, demonstrating and
motivating

Which two of the following are wrong
about the functions of management ?
Select the most appropriate code :

1. Policy formulation and setting
objectives.

2. Policy implementation and
achievement of objectives.

3. Deals with executive and
governance functions.

4. Making best possible allocation
and utilization of organisation’s
resources.

Codes :

(A) 2 and 3 are wrong, but 1 and 4
are right

(B) 1 and 2 are wrong, but 3 and 4
are right

{C) 1 and 3 are wrong, but 2 and 4
are right

(D) 1 and 4 are wrong, but 2 and 3
are right

81.

82.

clcelRs Adtetl Aellzu dael

sl 8 ?

(A) Hwledlol AU, UagsaRl 5
Ual [Aedlat 524,

(B) muoledlot duug, Ul 89
Ul el sudl

(€) wwoleslat 2ug, 202 YA Ao
UaiBall 5q

(D) Hwledlot 2ug, [Aesleat 53¢ ua
YlcUigel UG

ezl Usteall sialloil veelnl
AlAotuiell 56 A st AW B?
AR A ude 52

1. oA QullQ wad 3l AR
sl
2. olQell UHA UA 3qulloll R

3. WHAHER WA cAdsl? (deal)
g2l el staAl sAcdcl

4. atsotetl Sllcllell et s
Gualol sl e sl sl

Udd :

(A} 2 ol 3ullel & QL1 U 4
AU D

(B) 1 ot 2 ullel B UQ 3 U 4
WUl B

(C}) 1wl 3ullei & wal 2 s
49Ul 8

(D) 1uA 4 W2l & uRl2 Wal 3
AU B
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83.

84.

Which two of the following are wrong
about the types of educational
leaders and their style of functioning ?

Select the appropriate code :

1. Bureaucratic leaders are focussed
on getting the job done.

2. Charismatic leaders instill
inspiration, motivation,
excitement and commitment
in staff.

3. Task oriented leaders are focused
on rules and procedures.

4. Autocratic leaders make decision
without referring to any one.

Codes :

(A) 2 and 4 are correct, but 1 and 3
are wrong

(B) 2 and 3 are correct, but 1 and 4
are wrong

(C) 1 and 4 are correct, but 2 and 3
are wrong

(D) 1 and 3 are correct, but 2 and 4
are wrong

The process of developmental

planning of higher educational

institutions can be improved

(A) By involving every one in
decision making

(B) By educating and motivating
employees

{C) By employing more qualified
person as an institutional head

(D) By promoting desirable vision,

mission and objectives of the
institution

83.

84.

lalldls AAcitoll YsLAA Aa Anoll
stelyiuelefl Adell otama

ol Actimiel 565 A ol WEL B ?

2o dbctoll urieoll s
1. wHAelRWE YAl Al siH
Yol sl UR tallot Blohd 52 8.

2. yola2uoll Adt Aol s uqnl
Y0, Ulcliset, Grloetl wa

Yldegale ¥lUat 52 B,

3. st wlelyu i Rall
wal sllugld u? tauet
Yoncl 52 B.

4. AscAlal Aol S uell
2y sl a2 Aela Q B.

Asd :

(A) 2 ¥l 4 AU B Ul ua 3
ulel &

(B) 2 ¥al 3 AU B Uy 1ua 4

wlel 8
(C) 1 3ol 4 WA D UL 2 uA 3

w2l 8

(D) 1ual 3 AU B UL 2 Aal 4
vlal 8

Qe dzenetl [Qstueus
wRetell Ylbal Yudl asia 8.

(A) e25a [Qelal ylBaunui uisella
(B} siaudlia QA cottcflal ua
Yluset audla

(C) rallolt dSt Al ay castd
clofl caGaa @Angjs wudlla

(D) dzellell WUARA sl (Vision),
M etet Mission) U dcfalle]
Aatiei(Promotion) 53lal



85.

86.

87.

What does situational theory of
leadership emphasize ?

(A) Personality traits
(B} Political situation
(C) Environment

(D) Events

Which of the following statement
justifies understanding of principles
of management help in taking
scientific decision ?

(A) Adherence to these principles
add to knowledge and
understanding of managerial
situation

(B) Principles emphasize logic
rather than a blind faith

(C) Principles of management are
at the core of the management
theory

(D) Principles are guidelines that
can be modified as per the
changing environment

Identify the most appropriate

meaning of quality assurance from

the following ?

(A) Tt is a measurement of degree
to which a product satisfies the
need

(B) Any systematic process used to
ensure quality in the process

(C) Process of identifying defects

(D) It is a corrective tool

85.

86.

87.

Adqcctoll URRAA %oi(Situational)
Rgid el U R H3 8 ?

(A) calsacel cael

(B) Axsla URRAA.

(C) uwaiarel

(D) 2ot (Events)

cal e Uaiall [0l ( Principles)
deu@s Rl Aauri HeE 52 8, Aq
{lA-niel 53 [Qtuet GRA 621 B.
A) w Qi anoll 8cusll
cczeltue(lat udlRelll2Aotl stiot

ol UMHIYHL AR 52 B
(B) Q20 viuldsiy sl df uR ay
CICRT LR

(C) calcruUotoll R calaRel Ustell
Rglci( Theory) aj alE B
(D) @2l Al Holelelst B % 2a

wallc20teit WReldot yHId viecll
st &

ol Aotmiell ‘opetairiofl widdl o0l Al
BT ENGINE

(A} Geulget (UELAL) 58 sauA
3R AAN B cof WUl 53¢
(B) uBauni diacit YRR sa 12

o d calaf®Ad ylsausll Gualot
(©) vl uensdl yiau

(D)  YuURlHS GusWL &



88. What is the first step of Quality
Assurance (QA) ?
(A) Development of standards
(B) Procurement of quality raw
material

(C) Customer service
(D) Identification of customer needs

89. Which one of the following is not true
about NAAC ?

(A) It was established in Sept. 1994

(B) It uses 5 criteria for assessment
and accreditation

(C) Located in Bangalore

(D) It is an autonomus body
established by the UGC

90. Which type of leader creates a
vaccum after he/she leaves the
institution, after his/her tenure/
transfer/retirement ?

(A) Autocratic style leader
(B) Bureaucratic style leader
(C) Democratic style leader
(D) Laissez Faire style leader

91. Which of the following children are
not considered as the children with
special educational needs ?

(A) Hyper active

(B) Normal

(C) Slow learner
(D) Both (B) and (C}

88. ojatatil Wil (QA) of udej st

9 B°?

(A) Hietsl e st

(B) 2elaridysd stAl Rl Anadl
(C) ales A

(D) anesell w3laica vloudl

89. NAAC olt AgeiHi o{lActtatiell 9

W3 B?

(A) doll WU ARINR 1994 Hi
ugs &cll

(B) A ¥elisel Al Yclldlel HIZ 5
HIUESlell GulaL 52 8

(C) A olocllui WA B

(D) A Yl sl W 2euar
A B

90. 52l USIR0il aldl, dell steisined

yeldaecl/Qgm oe Wrel
A3 B Y gYoAastal A% ] ?
(A) Ascllal ysiell Al

(B) UHAELRAEL Adealatol aAcll
(C) AsWEl Acecalal alcll

(D) &clBuU(ect aell Aot Acu

91. fAoynisll sl Waslel [Afe

slaldls 3R unddl stnslHi
Ul ool ?

A) Bl

(B) HUlHioA

(©) il atldott vttt

(D) (B) uat (C)



92.

93.

94.

95.

96.

What is the main purpose of
UNCRPD ?

{A) To encourage all disable persons
to enjoy their all human rights
with basic freedom

(B) To protect their rights

(C) To ensure them to provide
facilities to enjoy their rights

(D) All of the above

Which of the following is concerned
with the rights of the persons with
disabilities ?
(A) RIE
(C) ICF

(B) NCTE
(D) UNCRPD

Which of the following components is
not suggested by ICF, to understand
the health, disability and functioning
of a person ?

(A) Body functions and body
structure

(B) Environmental factors
(C) Financial factors
(D) Personal factors

In which of the following, classification
of individuals is done at international
level on the basis of disability,
functioning or the levels of physical
health ?

(A) UNCRPD
(C) NPE (1986)

(B) NCF 2005
(D) ICF

In which year Rehabilitation Council
of India Act was formed ?

(A) 1990 (B) 1991
(C) 1992 (D) 1993

92.

93.

94,

95.

96.

UNCRPD oll Jul & 9 & ?

(&) AH @sclls calAalal duet
AHIH Hietd BESRA Yoo
ol WA elatalall w2
Yldgol wlug

(B) Axell wlsAo] 2801 s

(C) Auetl st elataal Hi2el
Aatetsl Y3l wsetoll andl wisll
wul

(D) GuRall dHH

[@scls calalet ARSI WA
flAcuniell 9 Asoudd B ?

(A) RIE (B) NCTE
(C) ICF (D) UNCRPD

cai(5eloll 2cllrel, WBH AL Wal

stalyeucll( Functioning )l ¥Moscll

HER ICF glRL ol Astuiell saut

U2so] Yot sACUH] wLcR] o2l ?

(4) adRs sl yguell ua adl2
A Usll

(B) ualaella uRuunl

(€) Q@Qcdla (etaiglal) R

(D) calotd uRotnl

ol Aotniell Ui e, sioldl

(Functioning) ¥ uélRs e
WUR Al widAla

selldl cofls20 scul

e B ?
(A) UNCRPD (B) NCF 2005
(C) NPE (1986) (D) ICF

el Yolduot ulRNE w@RAaH s20
o oel ?
(A) 1990
(C) 1992

(B) 1991
(D} 1993



97. Which of the following are the

barriers of inclusive education in
India ?
Select an appropriate code.

1. Cooperative learning process is

adopted in it.

ii. Parents are not aware of inclusive
education.
Teachers are not trained properly
for such education.
Indian classrooms are overloaded
with students.

Codes :
(A) ii, iii, iv

iii.

iv.

(B) iii, ii, i

(C) iv, iii, i (D) i, ii, iv

98. In which Act, provision is made for

right to get free education upto the
age of 18 to disable children ?

(A) Persons with Disability Act, 1995
(B) RCI Act

(C) NCF 2005

(D) NEP 1986

99. In which Act, provision is made for

4% reserved seats in government
jobs for the persons with benchmark
disabilities ?

(A) RPWD Act, 2016

(B) RPWD Act, 2014

(C) PWD Act, 1995

(D) RCI Act

100. Which of the following is neuro

developmental disorder ?
(A) Cerebral palsy

(B) Dyslexia

(C) Autism

(D) Nyctalopia

97.

98.

99.

100.

eURAHL MHLAas (Qaaletl AL
ol Aotiell s2u B2
102 A¥c ue 5
i Aui uest3l uraast yEal
wUallalcllHl wWa B,
ii. ce{lRA wHdas @Rl Y oo

ol
oz}uctl Qe 12 Qasal 201

Alelld 2 auHl 2uadl sl
etlrcllal aoluisl (Qaweflel x4
R /eURd (Over loaded) B,
Add :

(A) ii, iii, iv
(C) iv, iii, i
@sctiol slnsla s H@ER2HHL 18
adell GHR YUl Usd [lawl Anccsll
w516l Slotaues sauMl Ul 8 ?
(A) [@sciol %ot wREAuH 1995

(B) RCI Act

(C) NCF 2005

(D) NEP 1986

U513 dlsIRAUL RAEA HIUES
(bench mark) yogololl el

cal (5 HIZ 4% wellHd A5l
ALelleS el WEAAUHHL sl

il & ?
(A) RPWD Act, 2016

(B) RPWD Act, 2014
(C) PWD Act, 1995
(D) RCI Act

ol Aattmiell stetcddett [@Qstuell vl

wLadl ofludl s8] 2
(A) HlelRs ueuuld

(B) (3622
(C) wcllotl
(D) ReAlbLOUUR]

iii.

iv.

(B) iii, i, i
(D) i, ii, iv




Space for Rough Work



